@YREV-A-SHELF

Innovation through Organization™

INSTALLATION INSTRUCTIONS

HEAVY-DUTY MIXER LIFT

Clean with a damp cloth and
wipe parts dry.

Lubricate pivot points
as needed.

WATCH TUTORIALS OF OUR
PRODUCTS BEING INSTALLED

WWW.REV-A-SHELF.COM/VIDEOS

@

PARTS LIST
No. Description
A Mixer Lift Bracket (L & R)
B #10 x 5/8" Pan Head Screws
C #10 x 1/2" Pan Head Screws
D Shelf

*Depending on unit purchased, shelf may not be included.

PREPARATION

SIDE SUPPORT PANELS FOR
FACE FRAME CABINETS REQUIRED.

Align the top of the support panel with the
top of the cabinet. For strength and durability,
use hardwood for the support panel.

Each support panel should be 6" tall and
extend the full depth of the cabinet.

The panel’s thickness should match the
face frame overlay, and it should be
securely attached with screws for a
sturdy installation.

Note: Support panels and screws are
not included.

12400 Earl Jones Way

Louisville, KY 40299
rev-a-shelf.com

Customer Service: 800-626-1126

WARNING A

This is a spring loaded
product and can cause
| severe harm if not handled
properly during installation.

I-RAS-ML-0325



He O

IF SHELF IS INCLUDED, SKIP THIS STEP

DETERMINING SHELF SIZE (shelf not included)

Shelf should be a minimum of 3/4” (19mm) thick and 20" (508mm)
in length.

The width of the shelf is determined by measuring the cabinet
opening “X" minus 3-1/4" (83mm).

MIXER LIFT
SHELF

T
X -3-1/4" = SHELF
(B3mm)  \WIDTH

HeooWdd

Mark and pre-drill holes into the shelf. Install shelf to the Mixer Lift Brackets
(A) with the provided (6) #10 x 1/2" Pan Head Screws (C).

Note: Be sure the shelf does not extend past the outer surface
of the mounting plate before tightening the six screws.

After first 6 screws are secure, install remaining (6) #10 x 1/2" Pan Head
Screws (C), three on each side.

UNDERSIDE OF
MIXER LIFT SHELF

-
(76mm)
° "\ LAYOUT AND DRILL /° °

(12) 3/32" (3mm) HOLES

o o o o
/ \ 3
° o o o (76mm)

»<

%
g

<>
1-3/16" | g.q/2n
(Elt) @16mm)

FRONT EDGE v

HeoooW(E

Measure, and pre-drill the first two screw locations in chart below and
mount the Mixer Lift Bracket (A) with the provided (2) #10 x 5/8” Pan Head
Screws (B).

Repeat for the other Mixer Lift Bracket (A).
Note: The distance from top of cabinet is determined by height and length

of the accessory. Mixer Lift Brackets can be positioned higher if using the lift
for smaller appliances.

2" (51mm)
COUNTER TOP ﬂ
A
>
10-1/2" (267mm) 41/2"
w (114mm)
o o Q o o <§(
LNC] | @@ O NG o £ v
A w
(o] o] % v (o] o] (<)
w
- \o o /]

For inset door applications, add the thickness of the door back
to the 2” measurement.

Hoo (s

ADJUSTING FOR LEVEL
With shelf fully extended, place appliance on shelf and check for level.

To adjust level, remove appliance then loosen the front screws of the
Mixer Lift Brackets (A) and adjust up or down then re-tighten.

Once level, install the remaining (12) #10 x 5/8" Pan Head Screws (B)
into additional locations on both Mixer Lift Brackets (A).

Note: Not all holes will have screws. There are 8 total screws per bracket.

-
L
1l
O
o ¢
¢ o ¢

Additonal mounting hole locations

2 @REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



B as

This mixer lift is equipped with (3) adjustable spring tension settings for 0-20 lbs, 20-30 lbs, RECOMMENDED SPRING
and 30-60 lbs. The unit is shipped with the spring settings set to the middle setting. POSITION FOR VARYING

To adi . ) . . ) ) . MIXER WEIGHT

o adjust spring tension, apply slight tension to the spring mechanism by using a wrench.

Remove the bolt with a 10 mm Wrench, adjust the spring mechanism to the desired 1) 0-20 lbs. (O kg—9_07 kg)
location and reinstall the bolt, tighten securely. 2) 20-30 Ibs. (9.07 kg—13.6 kg)
Repeat on the other Mixer Lift Bracket (A). 3) 30-60 Ibs. (13.6 kg—27.2 kg)
Note: DO NOT release holding tension until after the set bolt is in the desired location! Any‘thlng over 60 Ibs

will void the warranty.

WARNING

RELEASING THE 12MM OR 1/2" BOX-END WRENCH USED TO HOLD
THE SPRING-LOADED MIXER LIFT BRACKETS BEFORE SECURELY
FASTENING THE REMOVED BOLT MAY RESULT IN SERIOUS INJURY

1-1/4" (32MM)
.—'—|

- 101727
IDEAL (266MM)

< 22-7/16"
MEASUREMENTS

1:3/16" (30MM) (570MM)

I

2-1/4" (56MM)
“ ‘\ [ 4 1/21: (1 14MM) LI LN N LY B 7 T 1 O
oo o Q. O B
o e
5 | |
17-9/16"
(446MM) TENSION
ADJUSTMENT
18-11/16" .
(475MM) RN
1'1/2"—> -
(39MM) - oozt
v S S
 / L 0 1P LA 11 0 |
ﬂ 1] A TG MV ) LU |0 N WAL 8 I O OO L |
LOWEST POINT
4-3/8" (112MM) N
\

@REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



@YREV-A-SHELF
Innovation through Organization®

© 12400 Earl Jones Way
° PY Louisville, KY 40299
rev-a-shelf.com

. . . Customer Service: 800-626-1126
Innovation through Organization®




® 12400 Earl Jones Way
Louisville, KY 40299
Customer Service: 800-626-1126

Innovation through Organization™

INSTRUCCIONES DE INSTALACION / INSTRUCTIONS D’'INSTALLATION

ELEVADOR DE MEZCLADORA DE SERVICIO PESADO /
ELEVATEUR A MELANGEUR LOURD

HERRAMIENTAS REQUERIDAS:
OUTILS REQUIS:

ADVERTENCIA/

CUIDADO / ENTRETIEN:

Limpie con un paiio hiimedo y
seque las partes.

Nettoyez avec un linge humide et
essuyez les piéces pour les secher
complétement.

VIDEO TUTORIAL
TUTOTIEL VIDEO

WWW.REV-A-SHELF.COM/VIDEQOS

AVERTISSEMENT:

Precaucién: este es
un producto que tiene
resortes y puede causar
dafio severo si no se
maneja con cuidado
durante el proceso de

instalacién.

Ceci est un produit avec un
ressort qui peut causer des
dommages graves s'il n’est
pas manipulé correctement
lors de l'installation.

*El estante del elevador para mezcladora puede no estar incluido. / L'étagére de I'électro-mélangeur peut ne pas étre incluse.

LISTA DE PIEZAS / LISTE DES PIECES

No. Descripcion / La description Qty.

Soporte del elevador para mezcladora /
Support de I'électro-mélangeur
Tornillos de Madera del #10 x 5/8" /
Vis & bois #10 x 5/8"

Tornillos de Madera del #10 x 1/2" /
Vis a bois #10 x 1/2"

C

D Estante / Etagére 1*

*Dependiendo de la unidad adquirida, el estante puede no estar incluido.

*Selon I'unité achetée, I'étagére peut ne pas étre incluse.

PREPARACION / PREPARATION

SE REQUIEREN PANELES DE SOPORTE LATERALES PARA GABINETES CON
MARCO FRONTAL.

Alinee la parte superior del panel de soporte con la parte superior del gabinete. Para
mayor resistencia y durabilidad, use madera dura para el panel de soporte. Cada panel
de soporte debe tener 6" de alto y extenderse por toda la profundidad del gabinete.

El grosor del panel debe coincidir con la superposicion del marco frontal, y debe
estar sujeto de manera segura con tornillos para una instalacién robusta.
Nota: Los paneles de soporte y los tornillos no estan incluidos.

PANNEAUX DE SUPPORT LATERAUX POUR ARMOIRES A CADRE FRONTAL
NECESSAIRES.

Alignez le haut du panneau de support avec le haut de I'armoire. Pour une meilleure
solidité et durabilité, utilisez du bois dur pour le panneau de support. Chaque panneau
de support doit avoir une hauteur de é po et se prolonger sur toute la profondeur de
I'armoire.

L'épaisseur du panneau doit correspondre au recouvrement du cadre frontal et le
panneau doit étre solidement fixé a I'aide de vis pour une installation robuste.
Remarque : Les panneaux de support et les vis ne sont pas inclus.

I-RAS-ML-0325



He O

SI EL ESTANTE ESTA INCLUIDO, OMITA ESTE PASO

DETERMINACION DEL TAMANO DEL ESTANTE (estante no incluido)

El estante debe tener un grosor minimo de 3/4” (19 mm) y 20" (508 mm) de largo.
El ancho del estante se determina midiendo la abertura del gabinete “X” menos
3-1/4" (83 mm).

SI LA TABLETTE EST INCLUSE, IGNOREZ CETTE ETAPE.

DETERMINER LA TAILLE DE LA TABLETTE (tablette non incluse)

La tablette doit avoir une épaisseur minimale de 3/4 po (19 mm) et une longueur
minimale de 20 po (508 mm).

Pour déterminer la largeur de I'étagére, mesurez |'ouverture de |'armoire et
soustrayez de cette valeur 3-1/4 po (83 mm).

ESTANTE
ELEVADOR PARA
MEZCLADORA

ETAGERE
ELEVATRICE POUR
MELANGEUR

I

ANCHO DEL

X = 3-1/4"= ESTANTE
(83mm) LARGEUR DE
L'ETAGERE

HeooWdd

Marque y perfore previamente los agujeros en el estante. Instale el estante en los
soportes de elevacién de la batidora (A) con los (6) tornillos de cabeza plana (C)
#10 x 1/2" suministrados.

Nota: Asegurese de que el estante no se extienda mas alla de la superficie
exterior de la placa de montaje antes de apretar los seis tornillos.

Después de que los primeros 6 tornillos estén asegurados, instale los (6) tornillos
de cabeza plana (C) #10 x 1/2" restantes, tres en cada lado.

Marquez et pré-percez les trous dans la tablette. Installez la tablette sur les
supports de levage de mélangeur (A) a I'aide des (6) vis a téte cylindrique

#10 x 1/2 po fournies (C).

Remarque : Assurez-vous que la tablette ne se prolonge pas au-dela de la
surface extérieure de la plaque de montage avant de serrer les six vis.
Une fois les six premiéres vis fixées, installez les (6) autres vis a téte cylindrique
#10 x 1/2 po (C), trois de chaque coté.

PARTE INFERIOR DEL ESTANTE
ELEVADOR PARA MEZCLADORA

SOUS DE L'ETAGERE
ELEVATRICE POUR MELANGEUR

> ° DISPOSICION Y e °
s PERFORACION 5 A
(12) agujeros de 7?"
oo 3/32" (3 mm) o o | emm v
A
°° DISPOSITION ET °° 3m
. PERCAGE o | omm
(12) trous de X
o o 3/32" (3 mm) oio

<>
1-3/16" | g.q/2#
(€} (216mm)

BISEL DELANTERO
BORD AVANT

HeoooW(E

Mida y perfore previamente las dos primeras ubicaciones de los tornillos en la tabla a
continuacién y monte el soporte de elevacion de la batidora (A) con los (2) tornillos de
cabeza plana (B) #10 x 5/8" proporcionados.

Repita el procedimiento para el otro soporte de elevacion de la batidora (A).

Nota: La distancia desde la parte superior del gabinete esta determinada por la al-
tura y la longitud del accesorio. Los soportes de elevacién de la batidora se pueden
colocar mas arriba si se utiliza el elevador para electrodomésticos mas pequefios

Mesurez et pré-percez les deux premiers emplacements de vis dans le tableau ci-des-
sous et fixez le support de levage de mélangeur (A) a I'aide des (2) vis a téte cylindrique
#10 x 5/8 po fournies (B).

Répétez cette étape pour l'autre support de levage de mélangeur (A).

Remarque : La distance depuis le haut de I'armoire est déterminée par la hauteur
et la longueur de I'accessoire. Les supports de levage de mélangeur peuvent étre
positionnés plus haut si vous utilisez I'appareil de levage avec de petits appareils.

2" (51mm)
Encimera / Comptoir j
A
>
10-1/2" (267mm) 4-1/2"
(114mm)
o e} o o
Lol o Llgh O ff- Y
o o 65 o o
\ O o /

Para aplicaciones de puertas empotradas, agregue el grosor de
la parte posterior de la puerta a la medida de 2".

Pour les applications de portes encastrées, ajoutez |'épaisseur
du dos de la porte a la mesure de 2".

Hoo (s

AJUSTE POR NIVEL

Con el estante completamente extendido, coloque el aparato en el estante y verifique

el nivel. Para ajustar el nivel, desmonte el aparato y, a continuacién, afloje los tornillos
delanteros de los soportes de elevacion de la batidora (A) y ajustelos hacia arriba o hacia
abajo y vuelva a apretar. Una vez nivelado, instale los (12) tornillos restantes #10 x 5/8"
de cabeza plana (B) en ubicaciones adicionales en ambos soportes de elevacion de la
batidora (A).

Nota: No todos los agujeros tendran tornillos. Hay 8 tornillos en total por soporte.

AJUSTEMENT DU NIVEAU

Avec la tablette complétement prolongée, placez I'appareil sur la tablette et vérifiez le
niveau. Pour régler le niveau, retirez |'appareil, puis desserrez les vis avant des supports
de levage de mélangeur (A). Ajustez le niveau vers le haut ou vers le bas, puis resserrez
les vis de nouveau. Une fois le niveau ajusté, installez les (12) autres vis a téte cylin-
drique #10 x 5/8 po (B) a des emplacements supplémentaires sur les deux supports de
levage de mélangeur (A).

Remarque : Les trous ne comporteront pas tous des vis. Il y a 8 vis au total par support.

o D ¢
LT
Ll
O
° = ¢
¢ o ¥

Ubicaciones de agujeros de montaje adicionales

Emplacements de trous de montage supplémentaires



B as

Este elevador de batidora est4 equipado con (3) monturas de resortes de tensién ajustables para 0-20 Ibs, 20-30 Ibs y 30-60 Ibs.
La unidad se envia con la montura de resorte ajustada para la configuracién central.

Para ajustar la tension del resorte, aplique una ligera tension al mecanismo de resorte utilizando una llave. Retire el perno con una
llave de 10 mm, ajuste el mecanismo de resorte a la ubicacion deseada y vuelva a instalar el perno. Apriete firmemente.

Repita el procedimiento en el otro soporte de elevacién de la batidora (A).

Nota: jNO libere la tensién de retencién hasta que el perno de ajuste esté en la ubicacién deseada!

Cet appareil de levage de mélangeur est équipé de (3) réglages de tension de ressort réglables pour des appareils de 0 a 20 Ib,
de 20 a 30 Ib et de 30 a 60 Ib. Lappareil est livré avec le ressort réglé sur le réglage moyen.

Pour régler la tension du ressort, appliquez une Iégeére tension sur le mécanisme du ressort a |'aide d'une clé. Retirez le boulon &
I'aide d'une clé de 10 mm, ajustez le mécanisme du ressort au niveau souhaité et réinstallez le boulon. Serrez le tout solidement.
Répétez cette étape avec 'autre support de levage de mélangeur (A).

Remarque : Ne relachez PAS la tension de maintien tant que le boulon de fixation n’est pas a I'endroit souhaité!

ADVERTENCIA / AVERTISSEMENT

Posicion recomendada del resorte
para batidoras con peso variado

Position Recommandée du Ressort
pour un Poids Variant du Mixeur

0-20 Ibs. (0 kg-9.07 kg),
20-30 lbs. (9.07 kg-13.6 kg)
30-60 Ibs. (13.6 kg-27.2 kg)

Cualquier peso arriba de 60 libras (27.2 kg)
cancelara la garantia de este producto.

Tout ce qui est plus de 60 Ibs. (27.2 kg)
annulera la garantie.

LIBERAR LA LLAVE DE CAJA DE 12 MM O 1/2" UTILIZADA PARA SUJETAR LOS SOPORTES DEL ELEVADOR DE MEZCLADORA
CON RESORTE ANTES DE ASEGURAR FIRMEMENTE EL PERNO RETIRADO PUEDE RESULTAR EN LESIONES GRAVES.

RELACHER LA CLE A DOUILLE DE 12 MM OU 1/2” UTILISEE POUR MAINTENIR LES SUPPORTS A RESSORT DU ELEVATEUR
A MELANGEUR AVANT DE FIXER SOLIDEMENT LE BOULON RETIRE PEUT ENTRAINER DES BLESSURES GRAVES.

1-1/4" (32MM)

¢ 10-1/2" >

MEDIDAS IDEALES (266MM) < 22:7/16" >
MESURES IDEALES 1-3/16" (30MM) (570MM)
o
-~ 2-1/4" (56 MM)
4 - " 1 2 1) |
41/2" (114MM) =
g 3 ° @
odo| ® @) H B
e =
5 2
17-9/14"
44, " Ajuste de la tensién
( 1§"Yq\ ‘]6 Réglage de la tension
475MM)
1-1p2"
sni?|| + St
v S /o

L0 S O 1P O NI 1 0 |
010 A 11 A 1 B 0 o |

Punto mas bajo

4-3/8" (1 12MM)ILe point le plus bas

H




@YREV-A-SHELF
Innovation through Organization®

© 12400 Earl Jones Way
° PY Louisville, KY 40299
rev-a-shelf.com

. . . Customer Service: 800-626-1126
Innovation through Organization®




